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1. What is the solution of 2|x|-|x-1|<5?
(A)-6<x<4 (B)l<x<4 (C)-3<x<4 (D)-2<x<4

2. 2% (7.2)'=(0.8)'=3 » 1\1%‘?
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2 )Y 5 1 P A(x)
o (A)2x*-1 (B)3x -1 (C)2x*-x-1 (D)3x*-x-1

3. % deg fix)=3 » 11 x*x+1 “f Slx)erkpr st 5 2x-3 0 1 x-1 ¢
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4. A is a positive irrational number, b is the decimal part, and a+b2=m m 1s a positive

whole number. What is the value of 5? (A\ (B‘H\/_ (C (D\ H\/_
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EfAx)=x*2axta » FERF B R Ax)>2 =
(A)-1<a<2 (B)-2<a<l (C)-1<a<3 (D)-2<a<3
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The sequence <a,> satisfying a,=2, a,-;=—a,. Find a,=
n
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. 4 out of 6 people will visit cities A, B, C, and D. Each city has to have one visitor and

each visitor can only go visiting one city. Thus, Alex and Leo are not going to visit
city D, then there are types of visiting plans.
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.In AABC, AC=10v/3, AB=10, .~ B=120°, find the area of AABC is
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7. xER » y=2+2(sinx-cosx)+sin2x 2. & % B 3 M & & 3
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(1) 4 % x*++4y*
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